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Poisson &3l
Poisson &M D 4E

O HERE.
{ClAl + ca Ao, B} = C1{A1, B} == CQ{AQ,B}

c1,C2 . const. ).
{A,c1B1 + 3B} = ci{A, B1} + c2{A, Bo} (e ez )

@ R,
{A7B} = _{BaA}

© Jacobi 2.
{A,{B,C}} + {B,{C, A}} + {C,{A, B}} = 0.

1., 2. ZRIDIEES.
3. IXEEHETHREIHVEEERTH S.
HEXEH TRAETHZEAF] GEAREE, 2020 ) IC5 FVGEEARHBZDT, ChEBNTS.
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Poisson &3l : Jacobi {2 M EEEH

$7, 2 SEOER.
T DRI T = LT T, RS TV = (7 T,
TNV — T(H”) + T[MV]'
—fRISRDED I D.

T(HV)SMV _ T(HV)SUW)7 T[MU]S/LV — pluv] S[#Vh etc. () WFpElE D& §53.

T8 = T (S(uy + Spus)) = TSy + T Sy = T S .
0

ROBEEANG 1 0, — 0
OzH
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Poisson &3l : Jacobi {2 M EEEH

{A,{B,C}} = J"(0,4)0, [J7°(0,B) (9, C)]
= J" JP (8, A)(05C) (0,0, B) + J* T (8, A)(8,B) (9, 05C).
CCT, JIPT(3,8,B) & p, 0 IKDVWTHITHS. I,
" JP°8,8,B = J* J*° 9,0, B = J*¥ JP? 8,0, B

THO,

JM(VJP)U — %(JIWJPU + JMPJVU)

(Jr = —Jv* ZAWT)
= %(J“”JP" + IV = %(J““J"" + J7V I

THB3N5. £27T,
M I (8, A)(85C)(8,8,B) = J* J77 (8, A)(0-C) (8,8, B)

A CICOVWTHINTHS.
w5 (BEKX)
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Poisson &3l : Jacobi {2 M EEEH

RIERIC

JH JP?(8,A)(0,B)(8,0,C) = — J* J7?(8,A)(8,B)(8,0,C)
= — J*I72(9,4)(9,B) (90 C)
H A BIZDOVWTHIFTHS. UEIZED
{A,{B,C}} +{B,{C, A}} +{C,{4,B}}
= JH 79, 4)(95C)(0wp) B) — J* IV (8, A)(9, B) (010 C) + T 77 (8, B) (95 A) (9,0, C)
(1) (2) (2)
= T 720, B)(0,C) (00,00 A) + J* TV (0,C) (06 B) (9w Op) A) — T TV (0,C) (0, A4) (9,00 B)
(3) (3) (1)
cih, ALESZOIFRIBES LITEHELE->TOICHS. [ |
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I8 © ZRJT Kepler B8, 30 (3) DEH
¥9, XoX=zHET 3.
l‘:%(iz—?f), y=E&n, &=¢E—m, §=né+E&n,
pe = (&€ + 1)), py = (& + 07
1

_ 12 .Q_H \
€ Q(x +9°) T’E’FHL'C,

{pg fpf, —22(2” +9°) + 4#%.} .

N | =

He — Hy = 5 {pf =93+ 02(& = 1)} = 5 (0 — 9} — dex) =
P =y — 22(3° +

=€+ 7)€ =) — (€ =) { (€€ = m)” + (mé + &) }

=206 + ") (*€" = £%4) = 2(6* + 1) (€ — &0 (né + &)

(my — i = S (€ + ) (&0 — né %m\r>

1
2
%)

= — 4y(zy — y2) +4u§.
&oT, B1RER/E.
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BN
8 ¢ ZRJT Kepler 8, I (3) DEH

(= %(:‘ﬁ +i%) - L 2AULT,

S = pepy + w?En = pepy — 2e€n = pepy — y(i° +5°) + 2#%.
pepn — y(@® +37) = (€ +n*) {(€ +n")én — (€ +7") |
= (&% +1°) (&€ — mi) (& — né)
(:L'?J —yi = %(Eﬁ -nf) ZAWT )
= 2i(xy — yi)
FoTE2RER/E. [ ]
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